
 

 

Answer on Question #66040 – Math – Calculus 
 

Question 
 

Evaluate:  2 2lim 2 3 2 2 3 2
x

x x x x


      

 

Solution 
 

 2 2lim 2 3 2 2 3 2
x

x x x x


     = 

=
  

 

2 2 2 2

2 2

2 3 2 2 3 2 2 3 2 2 3 2
lim

2 3 2 2 3 2
x

x x x x x x x x

x x x x


         


    
 

=
   
 

 

 

2 2
2 2 2 2

2 2 2 2

2 3 2 2 3 2 2 3 2 2 3 2
lim lim

2 3 2 2 3 2 2 3 2 2 3 2
x x

x x x x x x x x

x x x x x x x x
 

         
 

         
 

   

2 2

2 2 2 2

2 3 2 2 3 2 6 4
lim lim

2 3 2 2 3 2 2 3 2 2 3 2
x x

x x x x x

x x x x x x x x
 

     
  

         
 

2 2 2 2

4 4
6 6

lim lim
3 2 3 2 3 2 3 2

2 2 2 2
x x

x
x x

x
x x x x x x x x

 

   
    

    
   

            
   

= 

2

note that

4
0 as

6 6 3 3 2
.3

20 as 2 2 2 2 2

2
0 as

x
x

x
x

x
x

 
 
  
 
     

   
 
 

  
 

 

Answer: 
3 2

2
. 

 
 
 
 
 
 
 
 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

